Calculation of Diversity Index

	Gene type
	Number in Generation 4
	p
	p2

	SY
	1
	0.06
	0.0036

	SG
	3
	0.20
	0.0400

	MW
	5
	0.33
	0.1089

	LW
	1
	0.06
	0.0036

	SPR
	5
	0.33
	0.1089

	
	
	
	

	
	
	
	

	TOTAL
	
	15
	~1
	0.2650


Diversity   =   1 / Σ p2   =   1 / 0.2650   =   3.77
Gene type – genes present in generation 4.
Number in Generation 4 – how many times particular gene was present in generation 4

p – proportion of a gene in generation 4 (number present divided by total, 1/15 = 0.06)

p2 – proportion squared for each gene.
Directions:  Determine what genes showed up in generation 4 and how many times.  Determine the p and p-squared for each gene.  Total the p-squared and take the inverse 
(1 / total p2), which will yield the diversity index for that population or sample.
	Generation 4 

	#
	p
	p2

	1
	0.06
	0.0036

	2
	0.13
	0.0169

	3
	0.20
	0.0400

	4
	0.26
	0.0676

	5
	0.33
	0.1089

	6
	0.40
	0.1600

	7
	0.46
	0.2116

	8
	0.53
	0.2809

	9
	0.60
	0.3600

	10
	0.66
	0.4356


